
MULTI-FUNCTION SWIVEL 
HEAD RIVETER

FOR RIVETS NUTS

USER MANUAL

N100P

min.

M3

max.

M6



EN

FR

PL

EN

N100P / User manual2

TOOL CAPACITIES  
AND SPECIFICATIONS

360° pivoting head

NB: If necessary, rotate the head of the pliers 
to gain access to the hole in the bracket

Tool capacity:

Mandrel included: Keys included:

WARNING! 
Keep out of reach of children.  
Wear safety glasses when operating tool.

Weight: 900 g
Body material: Cast aluminium
Adjustable handles: Steel
Handles grip: ABS

150 mm

28
5 

m
m

RIVET NUT M3 M4 M5 M6

ALUMINIUM

STEEL

STAINLESS 
STEEL

Diameter Mark Included

M3 M3X0.5 Standard

M4 M4X0.7 Standard

M5 M5X0.8 Standard

M6 M6X1.0 Standard

B

A C

•How riveting a rivet-nut?
1 Drill hole.

Remove the front Sleeve Select mandrel for the size of rivet nut 
to be used.

B

B
2 3



EN

FR

PL

EN

N100P / User manual 3

T E C H N I C A L  S E R V I C E

Scell-it UK LTD Beacon Industrial Estate Weston road - Stafford ST18 ODG - Tel. : 01785 246539 - sales@scellit.co.uk - www.scellit.com

•Explosion drawing

Squeeze handles & screw out the mandrel 
from the rivet nut.

Open the tool handles.Replace the front sleeve.

B

54

Screw rivet nut into the mandrel. Adjust fixing screw for optimal fastening distance and Position the rivet 
nut into the workpiece.

6

7

Nose 
piece

Front Sleeve Mandrel

Pull Bar



EN

FR

PL
FR

N100P / Mode d’emploi4

Tête pivotante à 360°

NB : Faire pivoter si nécessaire la tête de la 
pince pour accéder au trou du support

Capacité d’usage :

Tirants fournis : Clés fournies :

AVERTISSEMENT ! 
Tenir hors de portée des enfants.  
Port des lunettes obligatoire.

CARACTÉRISTIQUES  
ET DIMENSIONS DE LA PINCE

Poids : 900 g
Matière corps : fonte d’aluminium
Matière poignée mobile : Acier
Grip poignée : Plastique ABS

150 mm

28
5 

m
m

ÉCROUS M3 M4 M5 M6

ALUMINIUM

ACIER

INOX

Diamètre Marquage Inclus

M3 M3X0.5 Standard

M4 M4X0.7 Standard

M5 M5X0.8 Standard

M6 M6X1.0 Standard

B

A C

•Comment sertir un écrou ?
1 Percer le support à l’aide d´un foret correspondant au diamètre de l’écrou à sertir.

Dévisser le porte nez Visser la tige de traction correspondant à l’écrou 
à sertir sur la vis de maintien dans le sens 
inverse des aiguilles d’une montre.

B

B
2 3



EN

FR

PL
FR

N100P / Mode d’emploi 5

•Vue éclatée

Nez Porte Nez Douille

Vis de 
maintien

S E R V I C E  T E C H N I Q U E

28 rue Paul Dubrule - Tél. : 03 20 32 98 18 - technique@scellit.com - www.scellit.com

Introduire l’écrou à sertir dans le trou du 
support & actionner les bras de la pince pour 
sertir l’écrou.

Ouvrir les bras de la pince.Mettre en place le porte nez.

B

54

Visser le nez de pose correspondant à l’écrou à sertir sur le porte nez.

6

7



EN

FR

PLPL

N100P / Instrukcja obsługi 6

ZAKRES NARZĘDZIA 
I SPECYFIKACJA

Obrotowa głowica 360°

Uwaga: W razie potrzeby obróć głowicę 
narzędzia, aby uzyskać dostęp do 

wywierconego otworu.

Zastosowanie:

Trzpień w zestawie: Kluczem w zestawie:

UWAGA!
Chronić przed dziećmi. Noś okulary 
ochronne podczas obsługi narzędzia.

Waga: 900 g
Materiał głowica: Aluminium
Ruchome uchwyty: Stal
Materiał uchwyt: ABS plastik

150 mm

28
5 

m
m

NITONAKRĘTKI M3 M4 M5 M6

ALUMINIUM

STAL

STAL 
NIERDZEWNA

Rozmiar Oznaczenie W zestawie

M3 M3X0.5 Standard

M4 M4X0.7 Standard

M5 M5X0.8 Standard

M6 M6X1.0 Standard

B

A C

•Jak zacisnąć nitonakrętkę?
1 Wywiercić otwór wiertłem odpowiadającym średnicy nitonakrętki.

Zdjąć przednią tuleję. Przykręcić trzpień odpowiadający używanej 
nitonakrętce na śrubie mocującej w kierunku 
przeciwnym do ruchu wskazówek zegara.

B

B
2 3



EN

FR

PLPL

N100P / Instrukcja obsługi 7

•Widok w stanie rozłożonym

Nosek Tuleja 
przednia

Trzpień

Śruba  
mocująca

Włożyć nitonakrętkę do wywierconego otworu i Ściśnij uchwyty i wykręć 
trzpień z nitonakrętki.

Otworzyć uchwyty.Zamocuj przednią tuleję.

B

54

Przykręcić nosek odpowiadający używanej nitonakrętce na trzpień. Nakręć nitonakrętkę na trzpień.  
Trzpień powinien lekko wystawać z nitonakrętki. Zablokuj przeciwnakrętkę. 

6

7

S E R W I S  T E C H N I C Z N Y

Ul. Płk. Dąbka 17, 30-732 Kraków - Tel. + 48 12 357 15 22 - biuro@scellitpolska.pl - www.scellit.pl




